Filters: Start Date - 11/10/2000; End Date - 11/10/2025; Equipment - 300G-LC JD EXCAVATOR [5688]

G009-3

Work Order: Equipment: 19932

300G-LC JD EXCAVATOR [5688]

Serial Number:

Transferred

ork Location:

Current Equipment Location

Business Unit:

1FF300GXVLF731711

Created by:

Marvin Feddema

Business Unit:

Machinery

Kms:

5930

Start Date: Stop Date:

Status:

4/16/2021 4/19/2021

Hr:

5952

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	2.00 RT	Shop Mech Field	\$54.00	\$108.00
TREVOR IRONSIDE	14.00 RT	Shop Weld Field	\$54.00	\$756.00
			Total Labor	\$864.00
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00 Each		\$15.83	\$15.83
PROTECTOR- SIDE [1662877]	4.00 Each		\$148.11	\$592.44
			Total Parts	\$608.27
			Total Equip	\$0.00
			Total Cost	\$1,472.27

Notes:

5688 rig up machine, Mount window guard and sidecutters. Hard surface buckets. Weld unit numbers to buckets

Item ID	Desc	ription		Completed By	Reported Hours
		N 7544		e des ser e d'a-	State deliver of the second
35775	5688	rig up machine		Marvin Feddema	16.00
5688 rig (up machi	ne			

Work Order:

21968

Status:

Transferred

Equipment:

300G-LC JD EXCAVATOR [5688]

Serial Number:

1FF300GXVLF731711

Work Location:

Current Equipment Location
Carla Merklin

Business Unit: Start Date: Machinery 7/12/2021

Created by: Kms:

Sana Picikiin

Stop Date:

7/12/2021

Hr:

5930 5952

Description	Quantity Labor Type	Rate	Total
JOHN GIBERSON	5.75 RT Shop Mech Rky	\$50.00	\$287.50
		Total Labor	\$287.50
LEFT REAR WINDOW [FYA00001498SH]	1.00 Each	\$287.42	\$287.42
		Total Parts	\$287.42
		Total Equip	\$0.00
		Total Cost	\$574.92

22548

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

Hr:

39957

5930 5952 Status:

Stop Date:

Serial Number:

Transferred

1FF300GXVLF731711

Business Unit: Start Date: Machinery 7/27/2021

7/28/2021

Work Order Cost Summary

Quantity Labor Type	Rate	Total
1.00 RT Shop Mech Field	\$54.00	\$54.00
2.00 RT Shop Mech Field	\$54.00	\$108.00
	Total Labor	\$162.00
1.00 Each	\$64.17	\$64.17
1.00 Each	\$98.30	\$98.30
2.00 Each	\$28.72	\$57. 44
1.00 Each	\$318.53	\$318.53
2.00 Each	\$74.22	\$148.44
1.00 Each	\$64.79	\$64.79
	Total Parts	\$751.67
	Total Equip	\$0.00
	Total Cost	\$913.67
	1.00 RT Shop Mech Field 2.00 RT Shop Mech Field 1.00 Each 1.00 Each 2.00 Each 1.00 Each 2.00 Each	1.00 RT Shop Mech Field \$54.00 2.00 RT Shop Mech Field \$54.00 Total Labor 1.00 Each \$64.17 1.00 Each \$98.30 2.00 Each \$28.72 1.00 Each \$318.53 2.00 Each \$74.22 1.00 Each \$64.79 Total Parts Total Equip

Item ID	Description	Completed By	Reported Hours
41038	5688 - install new front window	Carla Merklin	3.00
Work Order:	23857	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Locatio	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	9/1/2021
Kms:	5930	Stop Date:	9/10/2021
Hr:	5952		

Description		Quantity	/ Labor Type	Rate	Total
JASON HOLLINGSWO	RTH	4.50 RT	Shop Mech Field	\$54.00	\$243.00
				Total Labor	\$243.00
				Total Parts	\$0.00
				Total Equip	\$0.00
				Total Cost	\$243.00

Item ID	Desc	ription	Completed By	Reported Hours
43507	5688	- check over shim q/a	Carla Merklin	4.50
			_	
Work Order:		24764	Status:	Transferred
Equipment:		300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Locatio	n:	Current Equipment Location	Business Unit:	Machinery
Created by:		Carla Merklin	Start Date:	10/8/2021
Kms:		5930	Stop Date:	10/8/2021
Hr:		5952		

Description	Quantity Labor Type	Rate	Total
ARTLEY WEST	3.50 RT Shop Weld Field	\$54.00	\$189.00
1.1ERMANN KUKOWSKI	4.50 RT Shop Mech Field	\$54.00	\$243.00
		Total Labor	\$432.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$432.00

Item ID	Description	Completed By	Reported Hours
45419	5688 - check over for rent	Carla Merklin	8.00
Work Order:	24860	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Locatio	n:	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
Kms:	5930	Stop Date:	
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours	
43992	0500 Hour Service	Carla Merklin	0.00	

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Change fuel filters.
 * Change final drive oils.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

25795

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

5952

Hr:

5930

Status:

Transferred

Serial Number: Business Unit:

Machinery

Start Date:

11/19/2021

1FF300GXVLF731711

Stop Date:

11/20/2021

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT Shop Lube	\$38.00	\$152.00
		Total Labor	\$152.00
FILTER AIR {P617643, AT330978} [AF26124]	1.00 Each	\$53.78	\$53.78
FILTER AIR {P617644, AT330980} [AF26125]	1.00 Each	\$31.29	\$31.29
OIL FILTER [RE539279]	1.00 Each	\$28.52	\$28.52
		Total Parts	\$113.59
		Total Equip	\$0.00
		Total Cost	\$265.59

Item ID	Description	Completed By	Reported Hours
			<u>-</u>
46952	0250 Hour Service	Carla Merklin	4.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.

26336

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Stockton Pollitt

Kms: Hr:

5952

5930

Status:

Transferred

Serial Number:

1FF300GXVLF731711

Business Unit:

Machinery

Start Date: Stop Date:

12/8/2021 1/6/2022

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	7.50 RT Shop Lube	\$38.00	\$285.00
		Total Labor	\$285.00
FILTER - ELEMENT-SPIN ON {4630525} [CHF35516]	1.00 Each	\$23.18	\$23.18
FILTER [FYA00001490SH]	2.00 Each	\$38.41	\$76.82
FILTER [RE556406]	1.00 Each	\$139.99	\$139.99
FILTER {XR CHF7679} [FYA00033065]	1.00 Each	\$116.95	\$116.95
FILTER AIR {P617643, AT330978} [AF26124]	1.00 Each	\$53.78	\$53.78
FILTER AIR {P617644, AT330980} [AF26125]	1.00 Each	\$31.29	\$31.29
FILTER CAB AIR {4\$00686SH} [CAF55754]	1.00 Each	\$13.56	\$13.56
FILTER ELEMENT (AT365870) [CFS20127]	1.00 Each	\$48.39	\$48.39
OIL FILTER [RE539279]	1.00 Each	\$28.65	\$28.65
		Total Parts	\$532.60
		Total Equip	\$0.00
		Total Cost	\$817.60

Item ID	Description	Completed By	Reported Hours
48572	1000 Hour Service	Anthony Rodriguez	7.50

- * Change all filters.
 * Change engine oil.
 * Change swing drive oil.
 * Change final drive oils.
 * Change pump drive / damper case oil.
 * Check all fluids.
 * Complete graces.
- * Complete grease. * Sample all oils.

Work Order:	27129	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Trace Pidherney	Start Date:	1/20/2022
ms:	5930	Stop Date:	1/27/2022
	5952		

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT Shop Lube	\$38.00	\$114.00
		Total Labor	\$114.00
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$53.78	\$53.78
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$36.85	\$36.85
FILTER LUBE [RE539279]	1.00 Each	\$28.82	\$28.82
		Total Parts	\$119.45
		Total Equip	\$0.00
		Total Cost	\$233.45

Item ID Description		Completed By	Reported Hours
49658	0250 Hour Service	Anthony Rodriguez	3.00

Work Order: **Equipment:**

28085

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

5930 5952

Kms: Hr:

Carla Merklin

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1FF300GXVLF731711

Machinery 2/23/2022 3/3/2022

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT Shop Lube	\$38.00	\$152.00
		Total Labor	\$152.00
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$14.51	\$14.51
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$100.50	\$100.50
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$57.57	\$57.57
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each	\$41.16	\$41.16
FILTER KIT [BF7929KIT { XF RE556406}]	1.00 Each	\$117.20	\$117.20
FILTER LUBE [RE539279]	1.00 Each	\$28.96	\$28.96
		Total Parts	\$359.89
		Total Equip	\$0.00
		Total Cost	\$511.89

Item ID	Description	Completed By	Reported Hours
51873	0500 Hour Service	Carla Merklin	4.00

^{*} Change engine oil.
* Change engine filters -- oil and air.

^{*} Check all fluids.

^{*} Complete grease.

- * Change engine filters -- oil and air.
- * Change fuel filters.

 * Change final drive oils.

 * Check all fluids.
- * Complete grease.
 * Sample all oils.

Work Order: **Equipment:**

30345

5952

300G-LC JD EXCAVATOR [5688]

Work Location: Created by:

Kms: Hr:

Current Equipment Location Carla Merklin 5930

Status:

Serial Number: **Business Unit:**

Start Date: Stop Date:

Transferred

1FF300GXVLF731711

Machinery 4/11/2022 4/11/2022

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.50 RT Shop Lube	\$38.00	\$171.00
		Total Labor	\$171.00
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$14.79	\$14.79
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$72.75	\$72.75
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$42.11	\$42.11
FILTER LUBE [RE539279]	1.00 Each	\$33.74	\$33.74
		Total Parts	\$163.40
		Total Equip	\$0.00
		Total Cost	\$334.40

Item ID	Desc	ription	Completed By	Reported Hours
54558	0250	Hour Service	Carla Merklin	4.50

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Check all fluids.

 * Complete grease.

Work Order:	31112	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	5/10/2022
Kms:	5930	Stop Date:	5/10/2022
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
JOHN GIBERSON	8.75 RT Shop Mech Rky	\$50.00	\$437.50
ZANE BARNETT	4.25 RT Shop Mech Field	\$54.00	\$229.50
		Total Labor	\$667.00
CLAMP [DH400660]	1.00 Each	\$59.52	\$59.52
ESPAR CONTROL KIT [2028007022000]	1.00 Each	\$191.59	\$191.59
LEFT REAR WINDOW [FYA00001498SH]	1.00 Each	\$301.17	\$301.17
MIRROR {20Y-54-74280} [AT497535SH]	2.00 Each	\$116.19	\$232.38
MIRROR {20Y-54-74280} [AT497535SH]	2.00 Each	\$118.22	\$236.44
STEP [9755978]	2.00 Each	\$200.10	\$400.20
SUPPORT [DH800108]	1.00 Each	\$118.22	\$118.22
SUPPORT[Custom]	1.00 Each	(\$118.22)	(\$118.22)
		Total Parts	\$1,421.30
		Total Equip	\$0.00
		Total Cost	\$2,088.30

Item ID	Description	Completed By	Reported Hours	
57080	5688 - check over rental repairs Benedict	John Giberson	13.00	

32374

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by: Kms:

5930

Hr:

5952

Stockton Pollitt

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

1FF300GXVLF731711

Machinery 6/28/2022

6/28/2022

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT Shop Lube	\$41.17	\$164.68
		Total Labor	\$164.68
ENGINE OIL FILLER CAP [RE535560]	1.00 Each	\$49.79	\$49.79
FILTER - ELEMENT-SPIN ON {CHF35516} [4630525]	1.00 Each	\$38.85	\$38.85
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$14.14	\$14.14
FILTER [FYA00001490SH]	1.00 Each	\$53.22	\$53.22
FILTER {XR CHF7679} [FYA00033065]	1.00 Each	\$148.69	\$148.69
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$63.50	\$63.50
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$39.50	\$39.50
FILTER CAB AIR {4S00686SH} [CAF55754]	1.00 Each	\$70.05	\$70.05
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each	\$63.48	\$63.48
FILTER KIT [BF7929KIT { XF RE556406}]	1.00 Each	\$144.94	\$144.94
FILTER LUBE [RE539279]	1.00 Each	\$41.68	\$41.68
		Total Parts	\$727.83
		Total Equip	\$0.00
		Total Cost	\$892.51

Item ID	Description	Completed By	Reported Hours
58550	1000 Hour Service	Carla Merklin	4.00

- * Change all filters.
- * Change engine oil.
 * Change swing drive oil.
 * Change final drive oils.
- * Change pump drive / damper case oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

34174

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Stockton Pollitt

Kms:

5930

5952 Hr:

Status:

Transferred

Serial Number:

Machinery

Business Unit: Start Date:

8/18/2022

1FF300GXVLF731711

Stop Date:

8/18/2022

Work Order Cost \$ummary

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.50 RT Shop Lube	\$41.17	\$185.27
		Total Labor	\$185.27
AP-SWING FILLER [4343365]	1.00 Each	\$13.35	\$13.35
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$13.68	\$13.68
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$68.90	\$68.90
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$54.65	\$54.65
FILTER LUBE [RE539279]	1.00 Each	\$38.87	\$38.87
		Total Parts	\$189.45
		Total Equip	\$0.00
		Total Cost	\$374.72

Item ID	Description	Completed By	Reported Hours
61629	0250 Hour Service	Carla Merklin	4.50

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.

ork Order: _quipment:

Work Location:

35888

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Status:

Serial Number:

Business Unit:

1FF300GXVLF731711

Machinery

Transferred

Created by:

John Marshall

Kms:

5930

Hr:

5952

Start Date: Stop Date:

11/14/2022 11/14/2022

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT Shop Lube	\$41.17	\$247.02
		Total Labor	\$247.02
FILTER - ELEMENT-SPIN ON {CHF35516} [4630525]	1.00 Each	\$35.61	\$35.61
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$13.66	\$13.66
FILTER {HF7679} [FYA00033065]	1.00 Each	\$148.70	\$148.70
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$66.28	\$66.28
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$40.10	\$40.10
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each	\$53.20	\$53.20
FILTER KIT { XF RE556406} [BF7929KIT]	1.00 Each	\$170.59	\$170.59
FILTER LUBE [RE539279]	1.00 Each	\$30.15	\$30.15
		Total Parts	\$558.30
		Total Equip	\$0.00
		Total Cost	\$805.32

Item ID	Description	Completed By	Reported Hours	
		<u></u> .		
66113	0500 Hour Service	Anthony Rodriquez	6.00	

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Change fuel filters.
 * Change final drive oils.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 36776 300G-LC JD EXCAVATOR [5688] **Equipment: Work Location: Current Equipment Location** Created by: Carla Merklin Kms: 5930 5952 Hr:

Status: Transferred

1FF300GXVLF731711

Serial Number:

Business Unit: Machinery **Start Date:** 11/8/2022 **Stop Date:** 11/8/2022

Description		Quantity Labor Type	Rate	Total
DAVE HUNT		1.00 RT Shop Mech Field	\$59.34	\$59.34
JASON HOLLINGSWC	DRTH	3.50 RT Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$267.03
ESPAR FUEL PUMP 2	4V HS3 [22455101000]	1.00 Each	(\$290.79)	(\$290.79)
ESPAR FUEL PUMP 24	4V HS3 {22-4551-01-000} [22455101000]	1.00 Each	\$271.51	\$271.51
ESPAR FUEL PUMP 24	4V HS3 {22-4551-01-000} [22455101000]	1.00 Each	\$271.51	\$271.51
			Total Parts	\$252.23
			Total Equip	\$0.00
			Total Cost	\$519.26

Item ID D	Description	Completed By	Reported Hours
67899 5	688 - repair engine heater	Brittinni Lockard	4.50
Work Order:	37286	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location	Current Equipment Location	Business Unit:	Machinery
Created by:	Brian MacDonald	Start Date:	11/23/2022
Kms:	5930	Stop Date:	11/23/2022
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
BRIAN MACDONALD	6.00 RT Shop Mech Field	\$59.34	\$356.04
		Total Labor	\$356.04
TOOTH TWIN TIGER (GETJ350TT, FC350WTS) [1U3352WTL]	5.00 Each	\$26.52	\$132.61
		Total Parts	\$132.61
		Total Equip	\$0.00
		Total Cost	\$488.65

Item ID	Desc	ription	Completed By	Reported Hours
68848	5688	coolant leaks	Brittinni Lockard	6.00
Work Orde	r:	37385	Status:	Transferred
Equipment	:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Local	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brittinni Lockard	Start Date:	11/25/2022
Kms:		5930	Stop Date:	11/25/2022
J.:		5952		

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	4.00 RT Shop Mech Field	\$59.34	\$237.36
		Total Labor	\$237.36
BOLT - ROLLER 9245117R [4647124]	2.00 Each	\$256.27	\$512.54
		Total Parts	\$512.54
		Total Equip	\$0.00
		Total Cost	\$749.90

2756 Notes:

Item ID	Description	Completed By	Reported Hours
69040	5688 - REPLACE CARRIER ROLLER, DIGGING BUCKET TEETH HECKOVER	Brittinni Lockard	4.00
2756HRS			

Work Order:

38115

Status:

Transferred

Equipment:

300G-LC JD EXCAVATOR [5688]

Serial Number:

1FF300GXVLF731711

Work Location:

Current Equipment Location

Business Unit:

Machinery

Created by:

Carla Merklin

Start Date:

12/19/2022

Kms:

Hr:

5930 5952

Stop Date:

12/19/2022

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT Shop Lube	\$41.17	\$205.85
		Total Labor	\$205.85
FILTER - ELEMENT-SPIN ON {CHF35516} [4630525]	1.00 Each	\$35.81	\$35.81
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$14.36	\$14.36
FILTER [FYA00001490SH]	1.00 Each	\$43.70	\$43.70
FILTER {HF7679} [FYA00033065]	1.00 Each	\$148.70	\$148.70
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$68.80	\$68.80
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$40.10	\$40.10
FILTER CAB AIR {4S00686SH} [CAF55754]	1.00 Each	\$61.40	\$61.40
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each	\$19.26	\$19.26
FILTER KIT { XF BF7929KIT} [RE556406]	1.00 Each	\$169.36	\$169.36
FILTER LUBE [RE539279]	1.00 Each	\$36.03	\$36.03
FUEL PUMP[Custom]	1.00 Each	\$2,662.31	\$2,662.31
OCV FILTER - CRANKCASE [RE553703]	1.00 Each	\$223.41	\$223.41
		Total Parts	\$3,523.24
		Total Equip	\$0.00
		Total Cost	\$3,729.09

Item ID	Description	Completed By	Reported Hours	/
69937	1000 Hour Service	Anthony Rodriguez	5.00	

- * Change all filters.
 * Change engine oil.
 * Change swing drive oil.
- * Change final drive oils.

 * Change pump drive / damper case oil.
- * Check all fluids.

 * Complete grease.

 * Sample all oils.

38124

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

5930 5952 Status:

Transferred

Serial Number:

1FF300GXVLF731711

Business Unit: Start Date:

Machinery

Stop Date:

12/20/2022

12/20/2022

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
ALLAN SUTHERLAND	14.00 RT Shop Mech Field	\$59.34	\$830.76
		Total Labor	\$830.76
ESPAR HYDRONIC WATER PUMP 24V {25-2435-99-2501} [252435992501]	1.00 Each	\$617.77	\$617.77
		Total Parts	\$617.77
		Total Equip	\$0.00
		Total Cost	\$1,448.53

Item ID Des	cription	Completed By	Reported Hours
70517 568	3 - check over	Carla Merklin	14.00
Work Order:	38190	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Cody Brown	Start Date:	12/28/2022
Kms:	5930	Stop Date:	12/28/2022
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
CODY BROWN	2.00 RT Shop Mech Rky	\$49.05	\$98.10
		Total Labor	\$98.10
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$98.10

Item ID	Description	Completed By	Reported Hours
70605	5688-prep for OES outgoing rental	Carla Merklin	2.00
Work Orde	r: 39997	Status:	Transferred
Equipment	: 300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	: Brittinni Lockard	Start Date:	2/27/2023
Kms:	5930	Stop Date:	2/27/2023
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
CODY BROWN	2.00 RT Shop Mech Rky	\$49.05	\$98.10
		Total Labor	\$98.10
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$98.10

Item ID	Descrip	tion	Completed By	Reported Hours
73717	5688 - C	ES RENTAL RETURN	Brittinni Lockard	2.00
Work Orde	er:	40007	Status:	Transferred
Equipment	ta	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	/:	Cody Brown	Start Date:	2/27/2023
Kms:		5930	Stop Date:	2/27/2023
Hr:		5952		

Description	Quantity Labor Type	Rate	Total
CODY BROWN	0.50 RT Shop Mech Rky	\$49.05	\$24.53
		Total Labor	\$24.53
		Total Parts	\$0.00
1		Total Equip	\$0.00
		Total Cost	\$24.53

Item ID	Description	Completed By	Reported Hours
73729	5688-OES rental return pictures	Brittinni Lockard	0.50
Work Orde	er: 40035	Status:	Transferred

Equipment: 300G-LC JD EXCAVATOR [5688] **Work Location: Current Equipment Location** Created by: Cody Brown Kms:

5930 5952

Status: Transferred Serial Number: 1FF300GXVLF731711

Business Unit: Machinery **Start Date:** 2/27/2023 Stop Date: 2/27/2023

Work Order Cost Summary

Hr:

	Description	Quantity Labor Type	Rate	Total
-	ODY BROWN	3.00 RT Shop Mech Rky	\$49.05	\$147.15
			Total Labor	\$147.15
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$147.15

Item ID Des	cription	Completed By	Reported Hours
73765 5688	OES rental return inspection	Brittinni Lockard	3.00
Work Order:	40073	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	2/28/2023
Kms:	5930	Stop Date:	2/28/2023
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
MATTHEW GERVAIS	4.50 RT Shop Mech Field	\$59.34	\$267.03
TEVIN FERRIS	7.00 RT Shop Mech Field	\$59.34	\$415.38
		Total Labor	\$682.41
CONVERTOR 24/12 VDC, 10A {SDC-15} [ICT2412-10A]	1.00 Each	\$124.63	\$124.63
LATCH [DH400030]	1.00 Each	\$173.93	\$173.93
MIRROR {20Y-54-74280} [AT497535SH]	1.00 Each	\$109.29	\$109.29
NL329-12 - 65.5" C/W 12 ORFS S - 12 ORFS 90[Custom]	1.00 Each	\$154.57	\$154.57
NL329-12 - 71" C/W 12 ORFS S - 12 ORFS 45[Custom]	1.00 Each	\$160.46	\$160.46
R128210 SERPITNE BELT 300GLC [R128210]	1.00 Each	\$236.89	\$236.89
SUMMER TRUCK WIPER BLADE 20" - J-HOOK {WC20-10, 4650572} [WP20031]	1.00 Each	\$7.07	\$7.07
VALVE - JD (GREASE) TRACK TENSIONER [4255055RSH]	1.00 Each	\$72.17	\$72.17
		Total Parts	\$1,039.01
		Total Equip	\$0.00
		Total Cost	\$1,721.42

250hr sample Notes:

Item ID	Description	Completed By Reported Hours		
73858	5688 - RENTAL RETURN REPAIRS	Brittinni Lockard	11.50	
73030	5000 - REIVIAL RETURN REPAIRS	Brituniti Lockard	11.50	
73337	0250 Hour Service	Brittinni Lockard	0.00	

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Check all fluids.
- * Complete grease.

Work Order: Equipment:

41248

300G-LC JD EXCAVATOR [5688]

Work Location: Created by:

Kms:

Hr:

Current Equipment Location

Cody Brown

5930

5952

Serial Number:

Status:

Business Unit:

Start Date:

Stop Date:

1FF300GXVLF731711 Machinery

Transferred

4/9/2023

4/9/2023

Description	Quantity Labor Type	Rate	Total
CODY BROWN	3.50 RT Shop Mech Rky	\$49.05	\$171.68
		Total Labor	\$171.68
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$171.68

Item ID	Desc	iption	Completed By	Reported Hours
76178	5688-	OES rental return inspection	Brittinni Lockard	3.50
Work Order	:	41314	Status:	Transferred
Equipment:		300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Locati	ion:	Current Equipment Location	Business Unit:	Machinery
Created by:		Carla Merklin	Start Date:	4/10/2023
Kms:		5930	Stop Date:	4/10/2023
Hr:		5952		

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	7.00 RT	Shop Mech Field	\$59.34	\$415.38
			Total Labor	\$415.38
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$415.38

Item ID	Desc	ription	Completed By	Reported Hours
76228	5688	- check over - removed thumb/ cut off corks	Brittinni Lockard	7.00
Work Orde	r:	42051	Status:	Transferred
Equipment	:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Local	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brittinni Lockard	Start Date:	5/4/2023
Kms:		5930	Stop Date:	5/4/2023
Hr:		5952		

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT Shop Lube	\$41.17	\$123.51
		Total Labor	\$123.51
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each	\$13.66	\$13.66
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each	\$63.67	\$63.67
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each	\$40.10	\$40.10
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each	\$53.60	\$53.60
LTER KIT { XF RE556406} [BF7929KIT]	1.00 Each	\$171.25	\$171.25
FILTER LUBE [RE539279]	1.00 Each	\$30.15	\$30.15

Item ID	Description	Completed By	Reported Hours	
64384	0500 Hour Service	Anthony Rodriguez	3.00	

* Change engine oil.
* Change engine filters -- oil and air.

* Change fuel filters.

* Change final drive oils.

* Check all fluids.

* Complete grease.

* Sample all oils.

Work Order: Equipment:

44410

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

5930

Hr:

5952

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Machinery 7/19/2023

Transferred

1FF300GXVLF731711

7/19/2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT Shop Lube	\$41.17	\$82.34
		Total Labor	\$82.34
J350 FLARED TOOTH [1073350]	5.00 Each	\$50.15	\$250.75
		Total Parts	\$250.75
		Total Equip	\$0.00
		Total Cost	\$333.09

Item ID	Description	Completed By	Reported Hours	
80567	0250 Hour Service	Brittinni Lockard	2.00	

* Change engine oil.

* Change engine filters -- oil and air.

* Check all fluids.

* Complete grease.

47747

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr: 5930 5952 Status:

Serial Number:

Transferred

1FF300GXVLF731711

Business Unit:

Start Date:

Machinery 10/27/2023

Stop Date:

10/27/2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
JOHN BARGEN	35.00 RT Shop Mech Field	\$59.34	\$2,076.90
		Total Labor	\$2,076.90
4381983 BUSHING[Custom]	2.00 Each	\$112.19	\$224.38
4443883 BUSHING[Custom]	2.00 Each	\$210.79	\$421.58
8094392 PIN[Custom]	1.00 Each	\$1,481.61	\$1,481.61
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00 Each	\$176.88	\$176.88
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each	\$68.31	\$68.31
SEAL [TH102411]	2.00 Each	\$42.68	\$85.36
VALVE - JD (GREASE) TRACK TENSIONER [4255055RSH]	2.00 Each	\$41.14	\$82.28
		Total Parts	\$2,540.40
		Total Equip	\$0.00
		Total Cost	\$4,617.30

Notes: Espar timer

Item ID	Description	Completed By	Reported Hours
87921 !	5688 - replace TEETH	Carla Merklin	35.00
Work Order:	48309	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	11/29/2023
Kms:	5930	Stop Date:	11/29/2023
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	8.50 RT Shop Lube	\$41.17	\$349.95
		Total Labor	\$349.95
FILTER AIR [FYA00001490SH]	1.00 Each	\$49.21	\$49.21
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each	\$41.50	\$41.50
FILTER CRANKCASE [RE553703]	1.00 Each	\$230.07	\$230.07
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00 Each	\$180.18	\$180.18
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each	\$61.31	\$61.31
FILTER HYDRAULIC {FLG: HF7679} [FYA00033065]	1.00 Each	\$171.35	\$171.35
FILTER LUBE {FLG: HF35516} [4630525]	1.00 Each	\$39.10	\$39.10
FILTER LUBE {FLG: LF16460} [RE539279]	1.00 Each	\$41.83	\$41.83
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00 Each	\$10.28	\$10.28
		Total Parts	\$896.13
		Total Equip	\$0.00
		Total Cost	\$1,246.07

Item ID	Description	Completed By	Reported Hours	
71011	1000 Hour Service	Carla Merklin	8.50	

- * Change all filters.
- * Change engine oil.
- * Change swing drive oil.
 * Change final drive oils.
- * Change pump drive / damper case oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: Equipment:

49205

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Work Location: Created by: Kms:

Carla Merklin 5930

5952 Hr:

Status:

Serial Number:

Transferred

Business Unit:

1FF300GXVLF731711 Machinery

Start Date: Stop Date:

12/11/2023 12/11/2023

Description	Quantity Labor Type	Rate	Total
MATTHEW GERVAIS	7.00 RT Shop Mech Field	\$59.34	\$415.38
		Total Labor	\$415.38
9245117 ROLLER[Custom]	1.00 Each	\$205.00	\$205.00
		Total Parts	\$205.00
		Total Equip	\$0.00
		Total Cost	\$620.38

Item ID	Desc	ription	Completed By	Reported Hours
90489	5688	- CHECKOVER/TUMB	Carla Merklin	7.00
Work Order		49229	Status:	Transferred
Equipment:		300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Locat	ion:	Current Equipment Location	Business Unit:	Machinery
Created by:	;	Clayton Michelson	Start Date:	12/12/2023
Kms:		5930	Stop Date:	12/12/2023
Hr:		5952		

Description	Quantity Labor Type	Rate	Total
CLAYTON MICHELSON	6.00 RT Shop Weld Field	\$55.71	\$334.26
		Total Labor	\$334.26
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$334.26

Item ID	Desc	ription	Completed By	Reported Hours
90541	5688	corking	Carla Merklin	6.00
				
Work Orde	r:	49728	Status:	Transferred
Equipment	:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Local	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brian MacDonald	Start Date:	1/3/2024
Kms:		5930	Stop Date:	1/3/2024
Hr:		5952		

Description	Quantity Labor Type Rate	Total
ALLAN SUTHERLAND	1.00 RT Shop Mech Field \$59.34	\$59.34
BRIAN MACDONALD	1.50 RT Shop Mech Field \$59.34	\$89.01
	Total Labor	\$148.35
	Total Parts	\$0.00
	Total Equip	\$0.00
	Total Cost	\$148.35

Item ID Des	cription	Completed By	Reported Hours

91334 5688 check over

Carla Merklin

2.50

Work Order:

50046

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

5930 5952 Status:

Transferred

Serial Number: Business Unit:

1FF300GXVLF731711 Machinery

Start Date: Stop Date:

1/16/2024 1/16/2024

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
TEVIN FERRIS	6.00 RT Shop Mech Field	\$59.34	\$356.04
		Total Labor	\$356.04
CORD - HEATER (12V) [3600008]	1.00 Each	\$37.38	\$37.38
EXCAVATOXY FYA00001498SH[Custom]	1.00 Each	\$327.05	\$327.05
SEAL KIT [200717]	1.00 Each	\$104.92	\$104.92
		Total Parts	\$469.35
		Total Equip	\$0.00
		Total Cost	\$825.39

Item ID Description		Completed By	Reported Hours	
				_
91847	5688 - FROZEN NO DEF	Brittinni Lockard	6.00	

Work Order: **Equipment:**

50602

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Work Location: Created by:

Brian MacDonald 5930

Kms: Hr:

5952

Status:

Serial Number:

1FF300GXVLF731711

Business Unit: Start Date: Stop Date:

Machinery 2/2/2024 2/2/2024

Transferred

Description	Quantity Labor Type	Rate	Total
BRIAN MACDONALD	22.50 RT Shop Mech Field	\$59.34	\$1,335.15
		Total Labor	\$1,335.15
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$1,335.15

Item ID	Description	Completed By	Reported Hours

22.50 92776 5688 window glass Carla Merklin

Work Order:

Created by:

50877

Equipment: Work Location: 300G-LC JD EXCAVATOR [5688]

Jeremy Detema

Kms: 5930 Hr: 5952 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

1FF300GXVLF731711

Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
ENGINE OIL FILLER CAP [RE535560]	2.00 Each	\$55.95	\$111.90
LIGHT FLOOD - 4" SQUARE 1.4AMP @ 12V [LW4232]	1.00 Each	\$24.72	\$24.72
PIN (GOES WITH 143352WTL) [8E6358]	5.00 Each	\$3.99	\$19.95
PIN (GOES WITH 143352WTL) [8E6358]	5.00 Each	\$2.99	\$14.94
RETAINER {XR 6Y9459, 6Y2527} [8E6359]	5.00 Each	\$3.53	\$17.64
RETAINER {XR 6Y9459} [8E6359]	5.00 Each	\$3.30	\$16.50
TOOTH TWIN TIGER {GETJ350TT, FC350WTS} [1U3352WTL]	5.00 Each	\$34.22	\$171.10
		Total Parts	\$376.75
		Total Equip	\$0.00
		Total Cost	\$376.75

Item ID	Description	Completed By	Reported Hours
93170	5688 - DIRECT BILL - 02/09/24	Jeremy Detema	0.00
Work Order:	51292	Status:	Transferred
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	2/21/2024
Kms:	5930	Stop Date:	2/21/2024
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT Shop Lube	\$41.17	\$41.17
		Total Labor	\$41.17
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
92208	0250 Hour Service	Andrew Matus	1.00

^{*} Change engine oil.

Work Order: **Equipment:**

51398

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

5930

Hr:

5952

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1FF300GXVLF731711

Machinery 2/23/2024 2/23/2024

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
DAVE HUNT	21.50 RT Shop Mech Field	\$59.34	\$1,275.81
		Total Labor	\$1,275.81
SEAL KIT [200717]	1.00 Each	\$104.92	\$104.92
		Total Parts	\$104.92
		Total Equip	\$0.00
		Total Cost	\$1,380.73

Item ID	Description	Completed By	Reported Hours
94140	5688 - check thumb cylinder	Carla Merklin	21.50

Work Order:

50970

Equipment: Work Location: 300G-LC JD EXCAVATOR [5688]

Created by:

Current Equipment Location Brittinni Lockard

Kms:

5930

Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Transferred

1FF300GXVLF731711

Machinery 2/12/2024 2/12/2024

^{*} Change engine filters -- oil and air.

^{*} Check all fluids.

^{*} Complete grease.

Pescription	Quantity Labor Type	Rate	Total
MATTHEW GERVAIS	7.50 RT Shop Mech Field	\$59.34	\$445.05
		Total Labor	\$445.05
FILTER AIR [FYA00001490SH]	1.00 Each	\$50.42	\$50.42
FILTER CAB AIR {FLG: AF55754} [4S00686SH]	1.00 Each	\$81.92	\$81.92
FUSE HOLDER {XR 82-2166} [509621001]	2.00 Each	\$3.77	\$7.53
OIL CAP GASKET [R502902]	1.00 Each	\$15.73	\$15.73
TOOTH TWIN TIGER {GETJ350TT, FC350WTS} [1U3352WTL]	5.00 Each	\$35.32	\$176.60
		Total Parts	\$332.20
		Total Equip	\$0.00
		Total Cost	\$777.25

Item ID	Desc	ription	Completed By	Reported Hours
93304	5688	-checkover	Carla Merklin	7.50

Work Order: **Equipment: Work Location:**

Hr:

53528

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Treated by: Clayton Michelson Kms: 5930

5952

Status:

Serial Number:

Business Unit: Start Date: Stop Date:

Closed 1FF300GXVLF731711

Machinery 4/24/2024 4/24/2024

Work Order Cost Summary

Description	Quantity	/ Labor Type	Rate	Total
CLAYTON MICHELSON	3.00 RT	Shop Weld Field	\$55.71	\$167.13
LEVI LOOMIS	16.00 RT	Shop Mech Field	\$59.34	\$949.44
			Total Labor	\$1,116.57
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$1,116.57

Item ID	Description	Completed By	Reported Hours
98186	5688 ROPS	Carla Merklin	19.00

York Order: ¿quipment: **Work Location:** 52574 300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Status: **Serial Number:** Closed

Business Unit:

1FF300GXVLF731711

Machinery

Created by:

Sienna Campbell

Kms:

5930

Hr:

5952

Start Date: Stop Date:

4/1/2024

4/1/2024

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID Description		Completed By	Reported Hours	
96613	OES repairs	Sienna Campbell	0.00	

Work Order: **Equipment:**

54009

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Andrew Matus

Kms: Hr:

5930 5952 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

1FF300GXVLF731711 Machinery

Closed

5/13/2024 5/13/2024

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
20" WIPER BLADE [20201]	1.00 Each	\$5.85	\$5.85
3/4" DUST CAP {AER: 5100S712} [610808]	1.00 Each	\$20.82	\$20.82
3/4" DUST PLUG [610908]	1.00 Each	\$46.54	\$46.54
3/4" FEMALE WING COUPLER [612512]	1.00 Each	\$127.43	\$127.43
3/4" MALE WING COUPLER [610512]	1.00 Each	\$87.27	\$87.27
5-1/2" BOLT ON SPLIT ORING [AT349466]	1.00 Each	\$103.42	\$103.42
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each	\$41.50	\$41.50
FILTER CAB AIR [FYA00011003]	1.00 Each	\$41.01	\$41.01
LOUVER - ROUND [FYA00003014]	1.00 Each	\$36.93	\$36.93
SHIM [5450690066-1/16]	4.00 Each	\$4.06	\$16.23
SHIM [5450690066-1/8]	2.00 Each	\$4.50	\$9.00
WIPER BLADE 20" SUMMER *NOTES [WC2010]	2.00 Each	\$7.93	\$15.85
		Total Parts	\$623.17
		Total Equip	\$0.00
		Total Cost	\$623.17

Item ID	Desc	ription	Completed By	Reported Hours
99121	5688	OUTGOING RENTAL CHECKOVER	Sienna Campbell	0.00
1			·	

54335

Equipment: Work Location: 300G-LC JD EXCAVATOR [5688]

Created by:

Kms: Hr:

Current Equipment Location Carla Merklin 5930

5952

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Closed

1FF300GXVLF731711

Machinery 5/23/2024

5/23/2024

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT Shop Lube	\$41.17	\$41.17
		Total Labor	\$41.17
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
∍ 9612	0250 Hour Service	Andrew Matus	1.00

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Check all fluids.

 * Complete grease.

Work Order:	60005	Status:	Closed
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/25/2024
Kms:	5930	Stop Date:	10/25/2024
Hr:	5952		

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT Shop Lube	\$41.17	\$164.68
		Total Labor	\$164.68
FILTER AIR [FYA00001490SH]	1.00 Each	\$50.60	\$50.60
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each	\$41.50	\$41.50
FILTER CAB AIR {FLG: AF55754} [4S00686SH]	1.00 Each	\$105.70	\$105.70
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00 Each	\$190.70	\$190.70
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each	\$73.90	\$73.90
FILTER HYDRAULIC {FLG: HF7679} [FYA00033065]	1.00 Each	\$115.06	\$115.06
FILTER LUBE {FLG: HF35516} [4630525]	1.00 Each	\$43.35	\$43.35
FILTER LUBE {FLG: LF16460} [RE539279]	1.00 Each	\$46.25	\$46.25
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00 Each	\$8.55	\$8.55
		Total Parts	\$746.92
		Total Equip	\$0.00
		Total Cost	\$911.60

Item ID	Description	Completed By	Reported Hours	
104271	5000 Hour Service	Anthony Rodriguez	4.00	

- * Change all filters.
- * Change engine oil.
 * Change swing drive oil.
- * Change final drive oils.
- * Change pump drive / damper case oil.
 * Change hydraulic oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

60011

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

Hr:

5952

5930

Status:

Serial Number:

Closed

Machinery

1FF300GXVLF731711

Business Unit:

Start Date:

Stop Date:

Description	Quantity Labor Type	Rate	Total
ALLAN SUTHERLAND	16.50 RT Shop Mech Field	\$59.34	\$979.11
		Total Labor	\$979.11
BLADE - SLOPER (68") {600040, JD79068S} [720068]	1.00 Each	\$685.00	\$685.00
USHING [4355875]	4.00 Each	\$136.86	\$547.44
BUSHING CY [4397791]	5.00 Each	\$138.75	\$693.75
BUSHING CY [4397791]	1.00 Each	\$234.92	\$234.92
CONTROL WIPER KNOB [FYA00026806]	1.00 Each	\$6.83	\$6.83
ESPAR EASY START PRO TIMER KIT [2028007022000A]	1.00 Each	\$209.22	\$209.22
MIRROR {20Y-54-74280} [AT497535SH]	1.00 Each	\$101.10	\$101.10
PIN FAST CY [3090167]	1.00 Each	\$465.86	\$465.86
SEAL [TH102445]	8.00 Each	\$35.12	\$280.92
		Total Parts	\$3,225.05
		Total Equip	\$0.00
		Total Cost	\$4,204.16

Item ID	Desc	ription	Completed By	Reported Hours
				· _ · · ·
109736	5688	- INCOMING/OUTGOING RENTAL	Carla Merklin	16.50

Work Order: 60048

Equipment: 300G-LC JD EXCAVATOR [5688]

Vork Location: Current Equipment Location

Created by: Sienna Campbell

Kms: 5930

Hr: 5952

Status: Serial Number: Closed 1FF300GXVLF731711 Machinery

Business Unit: Start Date: Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
BENEDICT SIWAK	6.00 RT Shop Mech Rky	\$49.05	\$294.30
		Total Labor	\$294.30
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$294.30

Item ID	Description	Completed By	Reported Hours
109818	OUTGOING INSPECTION	Sienna Campbell	6.00

√ork Order: Equipment:

60055

300G-LC JD EXCAVATOR [5688]

Status:

Closed

Serial Number:

1FF300GXVLF731711

Work Location:

Current Equipment Location

Created by:

Cody Brown

Kms:

5930

Hr:

5952

Business Unit:

Start Date:

Machinery

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
CODY BROWN	6.00 RT Shop Mech Rky	\$49.05	\$294.30
KYLE DRANEY	8.00 RT Shop Weld Rky	\$47.83	\$382.64
		Total Labor	\$676.94
SPACER (90X170X2) {90X180X23MM} [2077024210]	2.00 Each	\$8.89	\$17.78
		Total Parts	\$17.78
		Total Equip	\$0.00
		Total Cost	\$694.72

Item ID	Description	Completed By	Reported Hours
109829	5688-Help prep for outgoing rental	Cody Brown	14.00

Work Order: Equipment:

62258

300G-LC JD EXCAVATOR [5688]

Work Location:

Created by: Kms:

5930

Hr:

Current Equipment Location

Kris Van Unen

5952

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Machinery

Closed

1/1/2025 1/1/2025

1FF300GXVLF731711

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
GEOFFREY SIMMELINK	4.00 RT Shop Mech Field	\$59.34	\$237.36
KRIS VAN UNEN	2.50 RT Shop Mech Rky	\$49.05	\$122.63
		Total Labor	\$359.99
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$359.99

Item ID	Description	Completed By	Reported Hours
114053	return inspection	Geoffrey Simmelink	6.50

Work Order:

62875

Equipment: 300G-LC JD EXCAVATOR [5688] Status:

Serial Number:

Closed

1FF300GXVLF731711

Work Location: Created by:

Current Equipment Location

Kurt Wirda

Kms: Hr:

5930 5952 **Business Unit:**

Start Date:

Machinery 1/21/2025

Stop Date:

1/21/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
ALLAN SUTHERLAND	18.00 RT Shop Mech Field	\$59.34	\$1,068.12
KURT WIRDA	10.00 RT Shop Mech Field	\$59.34	\$593.40
		Total Labor	\$1,661.52
SLIDE RAILS HANDLE 280MM CENTER [81085]	1.00 Each	\$24.00	\$24.00
		Total Parts	\$24.00
		Total Equip	\$0.00
		Total Cost	\$1,685.52

Item ID	Description	Completed By	Reported Hours
115027	change tracks and sprockets	Carla Merklin	28.00

Work Order: **Equipment: Work Location:**

Created by:

63548

300G-LC JD EXCAVATOR [5688]

Current Equipment Location Kale Hemphill

.ms: 5930 Hr: 5952 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Closed

1FF300GXVLF731711

Machinery 2/9/2025 2/9/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
KALE HEMPHILL	8.00 RT Shop Mech Field	\$59.34	\$474.72
		Total Labor	\$474.72
ELBOW [4118499]	1.00 Each	\$26.47	\$26.47
WIDE PROTECTOR SIDE [1662877]	1.00 Each	\$148.18	\$148.18
		Total Parts	\$174.65
		Total Equip	\$0.00
		Total Cost	\$649.37

Item ID	Description	Completed By	Reported Hours
116252	5699 chackayar	Kolo Hemphili	0.00
116252	5688 checkover	Kale Hemphill	8.00

Work Order: juipment:

64393

300G-LC JD EXCAVATOR [5688]

Work Location: Created by:

Brittinni Lockard

Status:

Serial Number:

Business Unit:

Start Date:

Closed

1FF300GXVLF731711

Machinery

Kms:

5930

Hr:

5952

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
	<u> </u>	Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
117954	0250 Hour Service	Brittinni Lockard	0.00

^{*} Sample engine oil.

Work Order: **Equipment:**

65881

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Hermann Kukowski

Kms: 5930 Hr:

5952

Status:

Stop Date:

Serial Number:

Business Unit:

Start Date:

Stop Date:

4/9/2025 4/9/2025

Machinery

Closed

1FF300GXVLF731711

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
HERMANN KUKOWSKI	5.50 RT Shop Mech Field	\$59.34	\$326.37
		Total Labor	\$326.37
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$326.37

Item ID	Description	Completed By	Reported Hours
120507	CHECK OVER	Carla Merklin	5 50
120507	CHECK OVER	Carla Merklin	5.50

Work Order:

65936

Status:

Closed

^{*} Check all fluids.

^{*} Complete grease.

Equipment: Work Location: Created by:

Чr:

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Business Unit: Start Date: Stop Date:

Serial Number:

1FF300GXVLF731711

Kms:

Carla Merklin 5930 5952

Machinery 4/10/2025 4/10/2025

Work Order Cost Summary

Description		Quantity Labor Type	Rate	Total
STEVEN MICKLEBOR	О	2.00 RT Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
FILTER AIR (FLG: A	F26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	\$78.20	\$78.20
FILTER AIR (FLG: A	F26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each	\$45.69	\$45.69
FILTER FUEL {BAL:	BF7929KIT} [RE556406]	1.00 Each	\$194.61	\$194.61
FILTER FUEL (FLG:	FS20127} [AT365870]	1.00 Each	\$81.43	\$81.43
FILTER LUBE {FLG:	LF16460} [RE539279]	1.00 Each	\$48.82	\$48.82
FILTER SEAL (FILTE	R BAL: B7322 & DON: P550779) [R502513]	1.00 Each	\$9.07	\$9.07
			Total Parts	\$457.82
			Total Equip	\$0.00
			Total Cost	\$540.16

Item ID	Description	Completed By	Reported Hours
120615	0500 Hour Service	Carla Merklin	2.00

* Change engine oil.

* Change engine filters -- oil and air.

* Change fuel filters.

* Change final drive oils.

* Check all fluids.

* Complete grease.
* Sample all oils.

Work Order:

66221

Equipment:

Kms:

300G-LC JD EXCAVATOR [5688]

Work Location: Created by:

Current Equipment Location Kaleb Gates

5930

Hr: 5952 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

1FF300GXVLF731711

Machinery 4/20/2025

4/20/2025

Description	Quantity Labor Type	Rate	Total
GEOFFREY SIMMELINK	6.00 RT Shop Mech Field	\$59.34	\$356.04
KALEB GATES	6.00 RT Shop Mech Field	\$59.34	\$356.04
		Total Labor	\$712.08
24V ELECTRICAL KIT[Custom]	1.00 Each	\$47.00	\$47.00
BUSHING [T229484]	2.00 Each	\$398.43	\$796.86
BUSHING [T229484][Custom]	2.00 Each	(\$398.43)	(\$796.86)
PIN (GOES WITH 1U3352WTL) [8E6358]	5.00 Each	\$3.89	\$19.43
RETAINER {XR 6Y9459, 6Y2527} [8E6359]	5.00 Each	\$3.65	\$18.25
SHIM [T229542]	1.00 Each	\$24.83	\$24.83
THUMB BUSHINGS [200797]	2.00 Each	\$244.28	\$488.56
TOOTH TWIN TIGER {GETJ350TT, FC350WTS} [1U3352WTL]	5.00 Each	\$38.02	\$190.08
		Total Parts	\$788.15
		Total Equip	\$0.00
		Total Cost	\$1,500.23

Item ID	Description	Completed By	Reported Hours
			-
121166	5688- Centerfire 04-20-2025, outgoing inspection and repairs	Geoffrey Simmelink	12.00

Work Order: Equipment:

67910

300G-LC JD EXCAVATOR [5688]

Work Location: Created by:

Current Equipment Location Hermann Kukowski

Kms: 5930 Hr: 5952 Status:

Serial Number: Business Unit:

Start Date: Stop Date:

1FF300GXVLF731711 Machinery

Closed

6/1/2025 6/1/2025

Work Order Cost Summary

Description	Rate	Total	
HERMANN KUKOWSKI	2.00 RT Shop Mech Field	\$59.34	\$118.68
		Total Labor	\$118.68
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00 Each	\$201.43	\$201.43
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each	\$81.87	\$81.87
		Total Parts	\$283.30
		Total Equip	\$0.00
		Total Cost	\$401.98

Item ID	Description	Completed By	Reported Hours
124164	5688 fuel pressure codes	Brittinni Lockard	2.00

Work Order: 69515 Status: Closed Equipment: Work Location:

Kms:

300G-LC JD EXCAVATOR [5688]

Current Equipment Location

Created by: Kevin Gordan

5930

∜lr: 5952

Serial Number: Business Unit:

Start Date:

Stop Date:

1FF300GXVLF731711

Machinery 6/30/2025 6/30/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
BARTLEY WEST	2.50 RT Shop Weld Field	\$55.71	\$139.28
MATTHEW GERVAIS	10.50 RT Shop Mech Field	\$59.34	\$623.07
		Total Labor	\$762.35
BUSHING [4355875]	4.00 Each	\$179.73	\$718.92
BUSHING CY [4397791]	4.00 Each	\$261.99	\$1,047.96
FILTER AIR [FYA00001490SH]	1.00 Each	\$64.28	\$64.28
FILTER CAB AIR {FLG: AF55754} [4S00686SH]	1.00 Each	\$124.58	\$124.58
FRONT SEAT BASE COVER [2058778]	1.00 Each	\$23.32	\$23.32
MIRROR {20Y-54-74280} {FYA00057339} [AT497535SH]	1.00 Each	\$119.70	\$119.70
OIL CAP GASKET [R\$02902]	1.00 Each	\$17.81	\$17.81
PIN [DH300121]	1.00 Each	\$1,510.42	\$1,510.42
PIN FAST CY [3090167]	1.00 Each	\$582.32	\$582.32
SEAL [TH102445]	10.00 Each	\$45.19	\$451.90
		Total Parts	\$4,661.21
		Total Equip	\$0.00
		Total Cost	\$5,423.55

ítem ID	Descr	iption	Completed By	Reported Hours
126578	5688-	CHECK OVER	Brittinni Lockard	13.00
Work Order	:	69848	Status:	Closed
Equipment:		300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Locati	ion:	Current Equipment Location	Business Unit:	Machinery
Created by:		Brittinni Lockard	Start Date:	7/8/2025
Kms:		5930	Stop Date:	7/8/2025
Hr:		5952		

Completed By

Reported Hours

Item ID

Describtion

9£.768,7‡	Total Cost		
00.0\$	qiup3 letoT		
ES. 7 78,E≵	zhe9 letoT		
86.21\$	86.51\$	1.00 Each	TURBOCHARGER OIL OUTLET GASKET [DZ128753]
Z0 [.] 69\$	₹3 4 .51	C.00 Each	TURBO OIL FEED OIL [DZ114164]
85.07\$	82.07\$	1.00 Each	TUBE [R528313]
88.701\$	▶ 6.£2\$	2.00 Each	STUD [RS43352]
95.22\$	87.72\$	2.00 Each	STUD [R530341]
28. 29\$	1 6.12\$	3.00 Each	SZTETTZO] ONLS
\$213°00	\$21.30	10.00 Each	[6ZZOTZQ] QNLS
18.72\$	18.72\$	1.00 Each	SPACER [DZ105787]
0 ≀ .2\$	0⊁:S\$	1.00 Each	[8/T9900690S F S] WIHS
0 ₺ .2\$	0 ▶ :S\$	1.00 Each	[8/T9900690S b S] WIHS
τ9 · ૮ \$	08.£\$	2.00 Each	[9T/T9900690S + S] WIHS
14.11\$	08.£\$	3.00 Each	[9T/T9900690S + S] WIHS
14'11\$	08.£\$	3.00 Each	[9T/T9900690S + S] WIHS
98:0८⊺\$	98.071\$	1.00 Each	SERPENTINE BELT 300GLC (25081062) [R128210]
16.511\$	\$115.91	1.00 Each	ZERPENTINE BELT 300GLC (25081062) [R128210]
\$13.95	\$6.51\$	1.00 Each	ORING [T142419]
۷0. ۱	∠0. ^ \$	1.00 Each	ОКТИС [К237304]
SZ:99Z\$	SZ '99 Z \$	1.00 Each	ИГ440-16@73"ОАL W /#16 C62 90-#16 C62 LONG 90[Custom]
\$525.12	20.2 ♪ \$	doe3 00.8	GASKET [R544294]
09:0 1 \$	\$20.30	2.00 Each	GASKET [RS26831]
69'85T\$	69'85T\$	1.00 Each	GASKET [DZ116644]
८ :-S\$	6 ८ ° T \$	3.00 Each	FLANGE NUT [R534282]
₽ 3.51≉	ĭS' b \$	3.00 Each	ELANGE BLANK 16 CODE 61 [NSFP16]
06.711\$	SS:9 \$	18.00 Each	FLANGE [R539762]
16.9\$	9 1 .£\$	2.00 Each	ETTTING HYD PLUG - ORS {PAR_10-PNLOS} [ECH_FS2408-10]
£Z: Þ T\$	9E. 7 \$	2.00 Each	FILLING HYD CAP - ORS {PAR_10-FNLS} [ECH_F50304-10]
\$1.85	\$8.1\$	1.00 Each	FILLING HYD CAP - ORS {PAR_04-FNLS} [ECH_F50304-04]
t S :01E\$	13'01E \$	1.00 Each	FILTER CRANKCASE [RES53703]
७ १:७६१\$	+T'+6T\$	1.00 Each	CKANKCASE PRESSURE SENSOR [RES75415]
87.21\$	97.4\$	3.00 Each	CAP SCREW [RS42509]
86.622\$	66'197\$	2.00 Each	BUSHING CY [4397791]
££.72 } ≵	££. + 112	4.00 Each	5-1\2" BOLT ON SPLIT ORING [A349466]
82.02\$	85.5\$	6.00 Each	#12 ORFS CAP[Custom]
0 b .p <u>1</u> \$	0 + .2\$	6.00 Each	#12 MALE ORFS PLUG[Custom]
£8:61Z; 1 \$	Total Labor		
£ } .7 <u>\$</u> 8,52	₽ £.92 \$	64.50 RT Shop Mech Field	MATTHEW GERVAIS
0 1 ,26£\$	\$0.6 1 \$	8.00 RT Shop Mech Rky	KENDBICK BOBINZON
lstoT	Rate	Quantity Labor Type	Description

70856

Equipment:

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

York Location: Created by:

Carla Merklin

Kms:

5930 5952

Hr:

Status:

Closed

Serial Number: Business Unit:

Machinery

Start Date:

7/28/2025

1FF300GXVLF731711

Stop Date: 7/28/2025

Description		Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO		3.00 RT Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
FILTER AIR [FYA0000149	00SH]	1.00 Each	\$64.28	\$64.28
FILTER AIR {FLG: AF261	24, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each	\$76.55	\$76.55
FILTER AIR {FLG: AF261	25, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each	\$44.78	\$ 44 .78
FILTER CAB AIR {FLG: A	F55754} [4S00686SH]	1.00 Each	\$124.90	\$124.90
FILTER CRANKCASE [RE	553703]	1.00 Each	\$310.51	\$310.51
FILTER FUEL (BAL: BF79	29KIT, P551124} [RE556406]	1.00 Each	\$202.79	\$202.79
FILTER FUEL {FLG: FS20	127} [AT365870]	1.00 Each	\$81.87	\$81.87
FILTER HYDRAULIC {FLG	: HF7679} [FYA00033065]	1.00 Each	\$124.81	\$124.81
FILTER LUBE (FLG: HF35	516} [4630525]	1.00 Each	\$39.50	\$39.50
FILTER LUBE (FLG: LF16	460} [RE539279]	1.00 Each	\$49.27	\$49.27
FILTER SEAL (FILTER BA	L: B7322 & DON: P550779) [R502513]	1.00 Each	\$9.11	\$9.11
-			Total Parts	\$1,128.35
	***************************************		Total Equip	\$0.00
			Total Cost	\$1,251.86

Item ID	Description	Completed By	Reported Hours
128882	1000 Hour Service	Carla Merklin	3.00

- * Change all filters.

 * Change engine oil.

 * Change swing drive oil.

 * Change final drive oils.

 * Change pump drive / damper case oil.

 * Check all fluids.

 * Complete grease.

 * Sample all oils.

Work Order:	71976	Status:	Closed
Equipment:	300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	8/20/2025
/ms:	5930	Stop Date:	8/20/2025
.r:	5952		

Description	Quantity Labor Type	Rate	Total
KALE HEMPHILL	4.00 RT Shop Mech Field	\$59.34	\$237.36
		Total Labor	\$237.36
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$237.36

Item ID	Description	Completed By	Reported Hours	
130903	5688 - CUT CORKS	Brittinni Lockard	4.00	
Work Orde	r: 72786	Status:	Closed	
Equipment	: 300G-LC JD EXCAVATOR [5688]	Serial Number:	1FF300GXVLF731711	

Machinery

9/8/2025

9/8/2025

Work Location: Current Equipment Location
Created by: Brittinni Lockard

Kms: 5930 **Hr:** 5952

Current Equipment Location

Business Unit:

Brittinni Lockard

Start Date:

5930

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
HERMANN KUKOWSKI	5.50 RT Shop Mech Field	\$59.34	\$326.37
		Total Labor	\$326.37
BEARING - 17MM BORE; 40MM OUTSIDE DIA; 12MM OUTER RACE [62032RS]	2.00 Each	\$4.13	\$8.26
BELT TENSIONER 4045 engines [RE548027]	1.00 Each	\$204.60	\$204.60
		Total Parts	\$212.86
		Total Equip	\$0.00
		Total Cost	\$539.23

Item ID	Description	Completed By	Reported Hours	
132493	5688 - REPAIR BELT TENSIONER	Brittinni Lockard	5.50	

Work Order: 73423 Status: Closed **Equipment:** 300G-LC JD EXCAVATOR [5688] **Serial Number:** 1FF300GXVLF731711 **Business Unit: Work Location: Current Equipment Location** Machinery Carla Merklin **Start Date:** 9/22/2025 Created by: 5930 Kms: **Stop Date:** 9/22/2025 5952 Hr:

Description	Quantity Labor Type	Rate	Total
BARTLEY WEST	4.00 RT Shop Mech Field	\$59.34	\$237.36
KAI EHN	6.50 RT Shop Mech Field	\$59.34	\$385.71
		Total Labor	\$623.07
1IRROR {20Y-54-74280} {FYA00057339} [AT497535SH]	1.00 Each	\$132.11	\$132.11
WASHER 4116X7X116 [6K6351]	1.00 Each	\$11.91	\$11.91
WASHER 4116X7X18 [6K6351HD]	1.00 Each	\$12.20	\$12.20
		Total Parts	\$156.22
		Total Equip	\$0.00
		Total Cost	\$779.29

Item ID	Desci	iption	Completed By	Reported Hours
133647	5688	CHECK OVER	Brittinni Lockard	10.50

Work Order: **Equipment:**

73921 300G-LC JD EXCAVATOR [5688] Status: **Serial Number:** Closed

Work Location: Created by:

Current Equipment Location Carla Merklin

Business Unit: Start Date:

1FF300GXVLF731711 Machinery

Kms: 5930 Hr: 5952

Stop Date:

10/1/2025 10/1/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT Shop Lube	\$41.17	\$41.17
		Total Labor	\$41.17
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$41.17

Item ID	Desc	ription	Completed By	Reported Hours
134134	0250	Hour Service	Anthony Rodriguez	1.00

- * Sample engine oil.
 * Check all fluids.
 * Complete grease.

₩york Order: _quipment:

Work Location:

74178

300G-LC JD EXCAVATOR [5688] **Current Equipment Location**

Status:

Closed

Serial Number: Business Unit:

1FF300GXVLF731711

Machinery

Created by:

Matthew Gervais

10/7/2025

Kms: Hr:

5930 5952

Work Order Cost Summary

Start Date:	10/7/2025
Stop Date:	10/7/2025

Description	Quantity Labor Type	Rate	Total
MATTHEW GERVAIS	2.50 RT Shop Mech Field	\$59.34	\$148.35
		Total Labor	\$148.35
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$148.35

Item ID	Description	Completed By	Reported Hours
134917	5688 replace water valve	Brittinni Lockard	2.50

Work Order:

75385

Equipment:

300G-LC JD EXCAVATOR [5688]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

5930 5952

Stop Date:

Status: Scheduled

Serial Number: 1FF300GXVLF731711

Business Unit: Machinery **Start Date:** 11/6/2025

11/6/2025

Description	Completed By	Reported Hours
5688 - CHECK OVER		0.00